(022 @»»» Part 70000 000Rolling Bearings

B
‘
!
!
3 ,,,%,,, 2
!
I
S
_
=)L
yv4
0345060000000000 BAGL : mm
ooag Ooo0oooooooOooooono oooooo
©h C:
d D B O kNO O kNO
60002z 10 26 8 4.55 1.97
60012z 12 28 8 5.10 2.37
60022z 15 32 9 5.60 2.83
60032z 17 35 10 6.00 3.25
600422 20 42 12 9.40 5.00
600522 25 47 12 10.1 5.85
600622 30 55 13 13.2 8.30
600722 35 62 14 16.0 10.3
60082z 40 68 15 16.8 115
600922 45 75 16 20.9 15.2
60102z 50 80 16 21.8 16.6
0346062000000000 BAGL : mm
ooag Ooo0oooooooOooooono oooooo
©3 C:
d D B O kNO O kNO
62002z 10 30 9 5.10 2.39
62012z 12 32 10 6.80 3.05
620222 15 35 11 7.65 3.75
620322 17 40 12 9.55 4.80
620422 20 47 14 12.8 6.60
620527 25 52 15 14.0 7.85
620622 30 62 16 19.5 11.3
620722 35 72 17 25.7 15,3
620822 40 80 18 29.1 179
620922 45 85 19 315 20.4
62102z 50 90 20 35.0 23.2

420





